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What will happen il you assign a vabue te an element ol an amay whose subscripn
exceeds the sipe of The array? (F2E)  (5%)

(al [ will bt assigned to thal element.

{bY C (languagey will detect such ermor.

{] Cither daca aoray may be overwriltan,

{d) Possible svsrem maifunction.

{e] o clicet of this agsignment.

A do - while loap is mone suitable than while luop when (3%
(a) ibc body of the foop will never be execuled,

{b) tbhe body of the loup will be executed a1 least onee.

{r] the body of the loop will be executed fotever.

(d) the hody of the loop muost be skipped.

l3eseribe what the following C programsifunctions da? Use concise mathemarical
cxpression lo answer the guestion, i pou can,  {20%)
(a}
wincTtede <.stdio b
welefive n 16}
mrarng)
{
forg 5, 48
Sforfs=th1—i i=1 i< n i+-)
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£ i=4
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pring {Usum = Hd \n" s
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! gravafing a, int h)
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ifffetah) = (;
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int prachiing g, inf b

=h

refirnipeachia-l B v peachia- I b-1);
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if fitr= =0) || fa
rernrnf i

elye

}

{d]
ainclude <sidio b=

e af 0] =45 23 23 25 37 45 48, 5} 52 aal
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nf ilem;

int lemoeiing . ind i ingl;
soanfi S ditem);

pringf “position=

/
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femtaurfis, item, & Ui

int femuniine af J intitem, ind lower, int Lprer)

f

i mid;

if fferwer < —upper}

/

riid = flower + upper) / 2
frafmid] = = item)
relurmfmid);

elie

iffaef mig I =item;

reiurnilemontu, fiem, fower, mid- 1)),

el

retrnflemaonia item, midt ] NOECREL
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rertira (-1);
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4.3 & S find out the resubts of the tallowing statements & (12%)
{8) x —x~fx += Ay
{bhe- fir)d2 327 +3
fc) & = fu12)/73

» o tal bxplain and compare SRAM anl DEAM.  [5%)
(bt Explain and compare RISC wul €35 (3%)

6. Whar are purallel and serial interfaces? Compare e advantages and
disadvantages of the two.  (B%)
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pringfiy By = S x e
i

swapfi.
i,

f

LML fe .
Lot PR
=T
i=temip:

/

L1 #4 C0 &%, Fortran 3% £ T - function ¢ % £1 B recursive A
Froewl=t g ag+aid wg [ 8RR e (124




